CURVE DATA - PI STA=29+14.70 CURVE DATA - PI STA=35t0528  CURVE DATA -~ Pl STA=38+12.99 ROUTE SECTION COUNTY | St | SHEET
4 =20317" T = 6000 4 =318'55" T = 6000 A =1342'38" T = 98.89' — = *
D = 1°42'45" | = 119.98' D =2%548" | = 119.97 D =6%5755" L = 196.8¢ FAS 2934 | 09-00043-00~-SC HARDIN 1 4
R =334576' € = 0.54' R =207336° E =087 R =82260° £ =592' PROJECT NO. ARA-2934 (108) CONTRACT NO. 99409
Norrnal Crown SE = 0.015/F¢ S.E = 0.030/F¢
Attain Sta. I4+1] to Sto. 34+52  Attain Sta, 36+66 o Sta. 37+28 - =40+
Remove Sta. 35+58 to Sta. 35+99 Remove Sta. 38+49 fto Sta. 39+11 4 = 469940 T = 12447
D =19%217" L = 23511°
25 R =29077 £ =2550°
3 Sta 42+78 ~ Exist Dbl 24" x24°' CMP ~ 35" Lt For SE = 0.038/F¢
4 Replace with 2 - P Cul, O D, Ty, 1 24* -~ 36 Ft Attain Sta. 39+11 to Sta. 39+79
Sta 27+10 - Exist Dbl 24" x 24" CMP - 4° Rt For Q / Us 14.4' Lt DS 138" Rt Remove Sta, 41408 lo Sta. 41+76
To remain q\; Headwall Removal ~ 1 Ea
Note: Raise £ 1.00 Ft
Sta 25+09 ~ Exist Dbl 24" x 24’ CMP —~ 17° Rt For s
Add P Cul, CI O, Ty 1 24" ~ 4 Ft to DS (Rt) end
Each Pppe
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Sta 32+59 - Exist 15"x 20° CMP
Headwall Removal - | Ea
Add P Cul, Ct D, Ty 1 15" -~ 6 Ft to DS (Rt) end
Sta I5+90 ~ Exist 24"x 28" CMP - 4° Rt For
Replace with P Cul, OV O, Ty 1 24" - 30
Us 145" Lt DS 15.4° Rt Sta 37418 ~ Exist 15%x 30' CMP - 25° Lt For
To remain
4 =62600" T =17341 4 =481309" T = 711.88° 4 =110920" T = 6836 4 =592632" T = 61.78' L4 =11M5°027 T = 35.80°
SCALES: D =135125" = 346.45' D =22'5506" L = 210.40' 0 =811067 L = 136.29 D =52%638" t = 11227 D = 162809 [ = 71.35'
1" = 200' HOR R = 3085.53' £ = 4.87° R = 250.00° € =2389' R = 700.00° £ =J33 R =10822' £ =16.39 R =347.90' E =184
1= 20° vER Normal Crown SE = 0.039/F¢ SE = 0.032/FL S.E = O.040/FL, S.E = 0.040/F1.
Attain Sta. 24+40 to Sta. 25+09 Attain Sta. 26+5] to Sta. 27+15 Attain Sta. 41+76 to Sta. 42+43  Attain Sta. 43+17 to Sta. 43+53
Remove Sta. 25+82 to Sta. 26+51 Remove Sta. 27+72 to Sta. 28+36 Remove Sta. 42+61 to Sta. 43+17 Remove Sta. 43470 to Sta. 14+45
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20400 22400 24300 26400 28400 30+00 32+00 34+00 36+00 38+00 40+00 42+:00 44+00 46400

PLAN & PROFILE STA. 20+00 - STA. 46+00




